
SECTION 4.1   ALGEBA 2   THOMPSON 

 Quadratic Functions and Transformations 

 

            

 

 

 

 

 

**EXTREMELY IMPORTANT TO FIND DOMAIN AND RANGE 

 ACCORDING TO THE DIRECTION OF THE GRAPH 
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1)  

 Plot vertex (0,0) FIRST 

 Then plug in x=1  y= -11(1)2 - 11 

 plot (1,-11) 

 

 

 

 

 

2)  

   Down 8 units 

 Plot vertex (-8,0) FIRST 

 Then plug in shift up 1 and right 1 

 

 

 

 

3-5) 

  

   Down 2 units 

 Plot vertex (-2,0) FIRST 

 Then plug in shift up 1 and right 1 

 



6,7)  

   left and right position changes sign 

 

 

 

 

 

 

8,9)  

 

 

 

 

 

 

 

10,11)  

    

 Down 2 

 

 

 

 



12,13)  

       y = (x – h)2 + k vertex is (h,k) 

               change the h sign 

  

  axis of symmetry is x = h  

 

 

 

 

 

 

 

 

14,15)  

     

       

 y = (x – h)2 + k vertex is (h,k)  axis of symmetry is x = h 

 

 

 

 

 

 

 



16,17) 

 

 

        y = (x – h)2 + k vertex is (h,k) 
         

        axis of symmetry is x = h 

      

 

 

 

 

     

18,19)     

 

 

      y = (x – h)2 + k vertex is (h,k) 

 

    axis of symmetry is x = h 

 

 

 

 

 

 

 



20,21)  

 

 shifts right 2 and down 9 

 

 

 

 

 

 

 

22) 

   Vertical stretch of 3 VERTEX (0,0) 

 

 

 

 

 

 

 

 

 

 

 



23)    reflects across the x and shifts up 3 

 

 

 

 

 

 

 

 

24)  

 

 

 

 

 

 

 

 

 

 

 

 

 



25) 

 

 

 

 

 

 

 

 

 

 

 

 

EXTRA EXAMPLES 

 

 

a)     

 

  Down 4 units 

 

 

 

 



b)  

 

        y = (x – h)2 + k vertex is (h,k)  

         axis of symmetry is x = h 

 

 

 

 

 

 

 

 

c)  

 

  

 

 

 y = (x – h)2 + k vertex is (h,k)  

 axis of symmetry is x = h 

 

 

 

 



d)  

 

  

        y = (x – h)2 + k vertex is (h,k)  

        axis of symmetry is x = h 

 

 

 

 

 

 

e)  

 

  Reflects across the x-axis with vertical stretch of 2 

 

        y = (x – h)2 + k vertex is (h,k)  

        axis of symmetry is x = h 

 

 

 

 

 

 

 



f) 

 

 

 

 

 

 

 

g)  

 

 

 

 

 

 

 

h)  

 

 

 

 

 

 



i)  

 

 

 

 

 

 

 

j)  

 

 y = (x – h)2 + k vertex is (4,-8)  

 

 

 

 

k)  

  

 y = (x – h)2 + k vertex is (-9,-5)  

 

 

 

 

 


